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%l 100 + 9 + 50 + 400 + 3 = 562
R IE 2 7
® 5 + 7 + 2 + 2 + 9 = g6l
@ 2 + 8 + 5 + 2 + 4 = 1705
@ 3 + 2 + 7 + g + 9 = 1119
@ 8 + 7 + 5 + 5 + 4 = 659
® 6 + 8 + 3 + 5 + 8 = 948
® 8 + 7 + 6 + 4 + 3 = 1567
@ | + g + 6 + 6 + 3 = 772
® 3 + + | + 8 + 3 = 313
@ 4 + + 4 + 8 + 7 = 1284
© 7 + 3 + 8 + 8 + 7 = 465

ZDOTI> NME. DA EBY A [https://printchan.com] KDERITHY D> O— RTEEY
0020-0045-0004



[ F 2 AN TEHF SRR

No.004

(7l

® @ ©®© © ® O 0 o

Q

©

F A =
50 f~LEMNE O%:A 4wl
KRBFNEREAIO(EDEFTELTHESERIIELTEIL L,
O(tE) IV HEZTEL LTV EEA,
|00 + 9 + 50 + 400 + 3 = 562
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50 + 700 + 200 + 2 + 9 = q6 |
20 + 80 + 5 + 200 + 400 = 705
300 + 20 + 700 + 9 + 90 = 1119
80 + 70 + 500 + 5 + 4 = 659
60 + 800 + 3 + 5 + 80 = 948
800 + 700 + 60 + 4 + 3 = 1567
100 + 9 + 600 + 60 + 3 = 772
3 + 100 + 100 + 80 + 30 = 313
400 + 10 + 4 + 800 + 70 = 1284
7 + 300 + 8 + 80 + 70 = 465
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